ECE 2100

Lecture Notes 4/14/03

HW # 22, due: W 4/16 Ex5.9 - Ex5.16
Check assumptions, esp saturation on 15 & 16

Spice #S3, due: F, 4/18 handout

Small signal Model

HW # 23, due: F 4/18 Ex5.17 - Ex5.23

HW # 24, due: M 4/21 Ex5.24 - Ex5.34
Ex 5.28 Ans: ...128kQ, 192kQ,...
May need for Ex5.33: Vpp= 5V, V;,= 0.8V

HW # 25, due: W 4/23 Ex5.35 - Ex5.39
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DC Body effects (repeated here for completeness)

Body effect parameter: y =
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Electron charge: q = 1.60-10"coul
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Other bias methods
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Most common bias in ICs involves Iy Ro = )
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V Note this particular arrangement doesn't have voltage gain
R 3 unless the current source is bypassed, a rare thing in ICs
------- 2 since capacitors are so expensive to make in silicon.
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